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int diff (int arrayl 1, int barrayl[ 1, int d)
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int paths (int i, int j)
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int recur (int a[], int n)

{

if (n=

=0) {

return O;
} else if (n==1) {

return a[O0];
} else {

return (a[O0]+a[n-1]+recur(a+l,n-2));

}
}
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int iter

(int all,

int n)
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typedef struct node {
int data;
struct node *next;
} Node;
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#include <stdio.h>
#include <stdlib.h>
#define ROW 3
#define COL 4

int foo=10;

int* have(int *bar)
int foo=5;
*bar+=fo0;
foo=*bar-1;
printf("'%d,
return bar;
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%d\n'", foo,*bar) ;

%d\n*,foo,*bar) ;

}

int fun(int *bar) {
*bar=7;
foo+=4;
printf("*%d,
return foo-1;

}

int what(int a[][COL]) {

int total=0,

i,J;

for(i=0; i<ROW;++1)
for(J=0;jJ<COL;++j)

total+=(i%2?1:-1)*a[i1[i]1;

return total;

}

int main() {

int af[rROW][COL]={{0,2,5,1},{4,5,8,9},{3,2,4,2}},bar=10,*baz;
printf("’'Result: %d\n", what(a));
baz=(int*)malloc(sizeof(int));

printf("'%d, %d\n",fun(&bar) ,bar);

foo=fun(&bar) ;

printf("'%d, %d\n",foo,bar);

*baz=*(have(&fo0));

*haz*=2;

printf("'%d, %d\n",foo,*baz);

free(baz);
return 0O;
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Problem 1
void sort (int array[], int size); /* mergesort, O(n log n) */
int binsearch (int n, int v[], int low, int high); /7* o(Jvl]) */

boolean diff(int array[], int barray[], int d)
{

int i;

sort(barray,N);

for(i=0;i<N;++i) {
if (binsearch(array[i]-d,barray,0,N) >= 0) {
return 1;

}
}

return O;

}

Complexity: sort an array with N elements using mergesort costs O(N log N). Then we
searched N times. Each search costs O(log N), so all N searches cost O(N log N). So we have
in total 4 times O(N log N), which is O(N log N).

Problem 2
int paths (int i, int j)

if (i==0 || j==0) return 1;

else return (paths(i-1,j)+paths(i,j-1));
}
int iter (int a[], int n)
{

int i,j,result=0;

for (i=0,j=n-1; i<j; i++,j--) {
result += a[i]+a[j]l;

}
it (==j) {
result += a[i];

}

return result;

}

Or, alternatively:

int iter (int a[], int n)
{

int i,result=0;

for (i=03 i<n; i++) {
result += a[i];

¥

return result;
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Problem 3
void free_ list(Node* list) {
Node* p;



while(list!=NULL) {
p=list;
list=list->next;
free(p);
}
}
merge(listl, list2,&list3);
void merge (Node* listl, Node* list2, Node** list3) {
Node* pl, *p2, *p, *list;

if (listl==NULL) {
*list3=list2;
return;

it (list2==NULL) {
*list3=listl;
return;

}

list=(listl->info) < (list2->info)?listl:list2;
pl=listl->next;

p2=list2;

p=list;

while( (p1!'=NULL) && (p2!'=NULL) ) {
if ( (pl->info) < (p2->info) ) {

p->next=pl;
pl=pl->next;
p=p->next;
p->next=NULL;
} else {
p->next=p2;
p2=p2->next;
p=p->next;
p->next=NULL;
}
¥
while (pl!'=NULL) {
p->next=pl;
pl=pl->next;
p=p->next;

p->next=NULL;

}

while (p2!=NULL) {
p->next=p2;
p2=p2->next;
p=p->next;
p->next=NULL;

L _
*Jist3=list;
return;

}

Problem 4
Result: 7
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Easiest way to check this out is to type the code into a file, compile it and run it.

1. True
2. False
3. True
4. True
5. False
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